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Read all the following instructions carefully before answering questions.
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. This Multiple Choice Question Paper — It consist of 75 questions, Booklet carries 8

pages.
Fill your Roll No., Group., Test Booklet No. Booklet Series clearly without any over-

writing and without any omission or discrepancy, else will render the Answer Sheet
liable for rejection.

Darken only ONE Choice with Black/Blue Ball Pen from the four options marked a,
b, c or d on the OMR sheet provided. Answer, once marked, should not be changed,
as erasing or overwriting will be treated as multiple marking and no marks will be
awarded for such answers.

The instructions on the OMR Sheet should be followed carefully.
Each question carries 2 marks.

All questions are compulsory.

Only filled OMR sheet will be accepted as an answer script.

Sheet for rough work is provided in the Question Booklet at the end.
Candidate should allocate their time judiciously to all the questions.
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Part |

ENGLISH (ELEMENTARY & BASIC KNOWLEDGE)

1. Point out the noun

A. Eat B. Sit
C. Beat D. Bird

2. Indicate collective noun

A. Sun B. Moon
C. Crowd D. Cow

3.What is the masculine form of traitress?

A. Trader

C. Tractor

B. Traitor
D. Thriftor

4. What is the feminine form of gander?

A. Gender
C. Gentry D. Genie

B. Goose

5. Spot the plural of hoof?

A. Hoofs B. Hooves
C. Hoobs D. Hubs

6. What is the plural of thief?

A. Thiefs B. Thefts
C. Thieves D. Tubes

7. Choose the correct order of the adjec-
tives for the sentence.
He was wearing a . Shirt

A. dirty old flannel
C. old dirty flannel

B. flannel old dirty
D. dirty flannel old

8. Fill in the blank with correct order of
adjective in the sentence.
Hair by overwashing

A. often is damaged B. is often damaged

C.is damaged often  D. damaged is often
ABC-A

9. It was who wrote this. Fill in
correct word.

A. him B. he

C. his D. himself

10. Fill in the correct alternative shown
below.

Please vote for the member has
done the most for our village.

A. whom you believe B. who you believed

C. that you believe D. who you believe

11. Indicate the correct spelling

A. Disapointment B. Dissapointment

C. Disappointment D. Disopointment

12. Indicate the correct spelling

A. Disipline B. Descipline

C. Discipline D. Dicipline

13. What is the meaning of the word alter-

cation?
A. Discussion B. Argumentation

C. Bravery D. Change

14. What is the meaning of the word autop-
sy?

A. Examination of a living body
B. Argumentation

C. Bravery

D. Change

15. Indicate the correct meaning of the

foreign word Angst
A.Tension free B. Anxiety

C. Composure D. Tedious
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16. Choose the appropriate option for the
sentence to use in indirect speech

| told him. do it.
A. to not B. to don’t
C. not to D. don'’t

17. Select the appropriate alternative for the
sentence to use in indirect speech.

He asked us show our passport.
A.if B. to

C. for D. why

18. Choose the appropriate meaning of the
foreign word Ad nauseam

A. To the point of foolishness

B. To the point of nausea

C. Vomiting.

D. Wickedness

19. Choose the correct reported speech.
Jack says, “He must be guilty!”

A. Jack said he must have been guilty
B. Jack exclaimed he must have been guilty
C. Jack exclaimed he must have to be guilty

D. Jack said he had been guilty

20. Indicate the correct indirect speech
“I get up every morning at 6 o’clock”, said
Peter

A. Peter said that he wakes up at 6 o’clock in
the morning every day.

B. Peter said he had got up every morning at 6
o’clock

C. Peter said | got up every morning at 6
o’clock

D. Peter said he got up every morning at 6
o’clock

21. Fill in the blank with appropriate option
What would you do if you your job?
A. meet B. met

C. would meet D. will meet

Questions 22 to 25, four alternatives are given, choose the phrase which best expresses the meaning
of the Idiom/phrase.

22. A wild goose chase

A. Timely search B. Wrong Decision

C. Useless Search D. Fruitful Search

23. Fit her like a glove

A. Too large B. Too shabby
C. Too tight D. Perfectly
ABC-A

24. Into hot water

A. In prison B. In worries
C. In debt D. In trouble
25. Spilled the beans

A. To celebrate B. To reveal

C. To conceal D. To enquire
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Part Il

ARITHMETIC (BASIC)

26.Divide 3.75 by .75 and the answer is

A.05
C.5

B. 0.005

D. none of the above

27.5/7 of 644 =7

A. 640
C. 1460

B. 460

D. none of the above

28. Square root of 400 is

A. 40
C.20

B. 25
D. 100

29. Which of the following is a prime
number?

A. 19
c.21

B. 20
D. 22

30. When a number is divided by 4, the quo-
tient is 28. What is the number?

A. 112 B. 46
C. 86 D. 96

31. What is the value of X in the equation
3X-15-6=0

A.7 B.8

C.9 D. -9

32. 25= ? % of 625

A.5 B.4

C.1/5 D. none of the above

33. The square of a negative number is

A. Both Negative and B. Negative
Positive
C. Positive D. none of the above

ABC-A

34. The average height of 10 students in a
class is 105 cms.

If 20 more students with an average height
of 120 cms

Join them, what will be the average height?

A. 105
C. 112

B. 110
D. 115

35. A car which cost Rs 1,20,000
discounted at 5%.

A. Rs.4,000
C. Rs.6,000

is

B. Rs.8,000
D. Rs.5,000

36. 10 sheeps and 5 pigs were bought for Rs
6000.

If the average price of a sheep is Rs 450,
find the average price of a pig.

A. 380
C. 340

B. 410
D. 300

37.Rs 324 is divided among 3 friends Sonu,
Monu and Hari

In the ratio of 5:6:7, what is Monu’s share of
money?

A. 68
C. 60

B. 108
D. 120

38. Two whole numbers, whose sum is 64
can be in the ratio of?

A.72 B.7:6

C. 31 D. 8:7

39. 0.0003 X 0.02="7

A. 0.06 B. 0.006

C. 0.00006 D. 0.000006
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40. In a School for mid-day meal, food is
sufficient for 250 students for 33 days, if
each student is given 325 gms meal. 80
more students joined the school. If same
amount of meal is given to each student,
then the food will last for how many days?

A. 20 B. 40
C.30 D. 25

41. 10 men can finish construction of a hut
in 8 days. How many men are needed to
finish the same in half a day?

A. 80 B. 100
C. 120 D. 160

42. What is the distance travelled by a car
which travelled at a speed of 80 km/hr for 3
hours and 30 minutes?

A. 275 km
C. 1285 km

B. 280 km
D. 290 km

43. What is the average of the numbers:
0,0,4,10,5and 5?

A.2 B.3
C.4 D.5

44. If 1 meter = 3.281 feet, How many feet are
there in 5 meters?

A. 15.505 ft
C. 16.405 ft

B. 15.905 ft
D. 16.805 ft

45. P sells a table to Q at a profit of 10% and
Q sells it to R at a profit of 12%. If R pays Rs
246.40 for it, then how much had P paid for
it?

A. 200 B. 300
C. 248 D. 346
ABC-A

46. A certain sum of money was deposited
in a Bank and it became double in 10 years.
What is the rate of Simple Interest?

A.8 B. 10
C.12 D. 13

47. What is the number, if 40% of the
number is 3807

A. 935 B. 940
C. 945 D. 950

48. Complete the series 2, 4,7, 11, ?, 22

A. 14 B. 15

C.16 D. 17

49. Complete the series 2, 5, 10, 17,?, 37,
50, 65

A.27 B. 22

C.24 D. 26

50. If Tuesday falls on the 4th of the month,
what day will dawn three days after 24th?

B. Friday
D. Monday

A. Tuesday
C. Thursday
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Part lll

GENERAL AWARENESS (BASIC)

51. Indian National Flag has 3 colours
placed horizontally in the following order
from the top

A. Green, white and saffron
B. White, green and saffron
C. Saffron ,white and green
D. Saffron, green and white

52. Constitution of India was adopted in
1949 on which date?

A. 26th January
C. 15th August

B. 26th November
D. 02nd October

53. Bombay Stock Exchange is located in -

A. Goa B. Delhi

C. Maharashtra D. Bangalore

54. The hardest substance available on
earth is -
A. Iron B. Gold

C. Platinum D. Diamond

55. Non- stick cooking utensils are coated
with -

A. Black paint B. PVC

C. Teflon D. Polystyrene

56. 6th Schedule of the Constitution of
India deals with

A. Panchayati Raj

B. Urban Local Bodies

C. Autonomous District Councils

D. Disqualification of MPs and MLAs

ABC-A

57. Which of the following are allowed for
the identification proof for voting in India

1 PAN Card

2 Pension document with photo

3 Bank/Post Office Passbook with photo

4 MNREGA Job Card

A.1and 2
C.1,2and 4

B.1,2and 3
D.1,2,3and 4

58. The Women’s Reservation Bill seeks
what % of reservation for women in the
State Assemblies and Lok Sabha?

A. 36 B. 25
C. 30 D. 33

59. Which of the following gas is known as
Noble Gas?

B. Helium
D. Carbon Di-oxide

A. Hydrogen
C. Oxygen
60. What is the first well known book written
by M K Gandhi

A. Imitating the English Gentleman

B. My Experiments with Truth

C. Indian Home Rule

D. Pathway to God

61. Who wrote Arthashastra?

A. Chanakya
C. Birbal D. Vashistha

B. Kautilya

62. Which of the following monuments is
completely built of white marble?

A. Humayun’s Tomb

B. Khwaja Nizammuding Chishti’s shrine
C. Taj Mahal

D. Ittamaduddin’s tomb
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63. In which cities of Japan were Atomic
bombs dropped during World War 11?

A. Tokyo and Hiroshima
B. Nagasaki and Miyazaki
C. Sendai and Hiroshima

D. Hiroshima and Nagasaki
64. LPG stands for
A. Liquid Petrol Gas

B. Liquefied Petroleum Gas

C. Liquid Paid Gas

D. Liquid pipeline Gas

65. Where is FIFA World Cup football, 2022
scheduled to be played?

B. Mexico
C. Brazil D. Qatar

A. Russia

66. When is the International Yoga Divas
celebrated?

A. 21st May
C. 21st June

B. 21st July

D. 21st April
67. What is the meaning of the word
Meghalaya?

A. Clear sky

C. Abode of gods

B. Hill State
D. Abode of cloud

68. Shillong is known as the of the
east
A. Venice B. Scotland

C. Dutch East Indies D. Cherry bloom capital

69. The location of rainiest place in the
world is at

A. Sohra(Cherrapunjee) B. Mawsynram

C. Dawki D. Baghmara

70. Which of the following town is not
located on the bank of Simsang River?

A. Baghmara B. Williamnagar
C. Tura D. None of the above
ABC-A

71. In the Atmosphere ultraviolet rays are
absorbed by

A. Hydrogen B. Ozone

C. Oxygen D. Nitrogen

72. Lakadong Turmeric is rich in

B. Sodium

D. Calcium

A. Curcumin

C. Potassium

73. Meghalaya has how many districts?

A. 11 B. 12
C.10 D. 13

74. Who is the incumbent Governor of
Meghalaya?

A.V Shanmuganathan B. B Purohit
C. T Roy D. S P Malik

75. Who is the incumbent Home Minister of
Meghalaya?

A. J P K Sangma
C. H Donhling

B. L Rymbui
D. S Shullai
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Space for Rough Work
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